CALCULUS
Derivatives of logarithmic functions
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. Differentiate f(z) = In(|2z3

. Differentiate h(z) = ¢2(IN2)

(2

4)°(x — 3)°

r — 5l).

. Differentiate y = logo (|23 + = — 5|).
. Differentiate g(x) = 1 4 [cot(Inz)].

Differentiate a(z) = In (312 + 47 + 8).
. Differentiate Q(r) = VInr.
. Differentiate

z=1In ( (27 — 6)7 (523 — 2)9(e27) )




OL([));)QO—S. Differentiate
F(t) = In (‘2t5€_4t + 3t2e=4 — Bte—H } 66_4t|).

0390-9.Differentiate uw = 2¢°logs ({E’/E)
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0390-10.Let f(z) = [aﬂ [|n(3az2 - 1)}.
Find f(z) and f"(x).




